Exploded view 1/2

Performa™ Winch 50.2 PTP n Installation and Maintenance Manual



Exploded view 2/2

Performa™ Winch 50.2 PTP H Installation and Maintenance Manual



Radial Winch 50.2 PTP

Pos | Qty | Code Description Pos | Qty | Code Description
111 | A96633400 PERFORMA Assy Base Winch 50 17 | 5 | Mo606303 Screw M8x25 UNI 5931
Zgﬁfcg% )53086 W30 18 | 2 | A74135100 Bearing 085x097x26
) 19 | 1 | S413520080 Spacer
1| 413350080 Roller 06x19
I SR | Bushing 02202505 21 1 [ ASHS200 | Assy CentralSnaft WSO
1| 414890080 Bushing 090117 2 Winch Serial Number Sticker
1| 5413330085 Bushing 012x014x11 22 | 1 | S4151400A0 Socket Support PT
9 | 1| S413020004 Gear 212 23 | 1 | A9572400 Performa W50 Drum
. Performa Drum W50
3 L1 SHENN L P 6| M019ER0 Bl 316
A1 1] SBIT0002 | Washer 0125043x1 5 1| SET30083 Performa Bearing ing W50
5 | 1| 5412800041 Gear 230 Winch Product Sticker**
6 | 1 | SA14260004 | Pawls Carrir 08xN2 24 | 1 | 657350153 | Performa Plain Top W50
7| 6 | 5000080008 Pl 06" %5 | 4 | MOBOSTO3 | Screw Mxi2 UNI 593t
§ | 6 | S000380001 Pawl Spring 08" 2% | 3 | M0600903 Screw M6x20 UNI5931
9 | 1 | 5415590041 | Gear 220 7 | 1 | S415180153 | CoverW50PT
10| 1 | S415610004 Pinion Z11 %% | 1 | S415220080 PT spacer
11| 2 | A72621800 Roller Bearing 014x020x18 0 | 1 | AM136400 Assembly Socket W20-80
12| 2 | 52813400680 Spacer roller bearings Socket Handle W20/80
131 1 | S413120002 | Washer 022.5x045¢1 1| 5416130085 Washer 07.7x025x5.8
11| se3070004 Pin 0940126325 1| M0614303 Serew M8x20 UNI 6109
15| 1 | A94156000 Assy Gear 211 30 | 1 | 5657320052 Performa Shim W50
Gear Z11 3t | 1 | 5678730082 Washer 057 5x093x1.5
$414900080 Bushing 012x014x6
16 | 1 | A94134800 Assy Housing Winch 50
Housing Winch 50
Heli-coil M6x9
1| S414900080 Bushing 012x0148
1| 413330085 Bushing 012x014x11
1| 5413320083 Bushing for support

*Available with service kit; see website www.harken.com

**Winch product sticker g == HARKEN rays:
| www | IW“ www.harken.com
WARNING 9_%’ % (+39) 031-3523511 MADE IN ITALY

Performa™ Winch 50.2 PTP n Installation and Maintenance Manual



